



Al-Qadisiyah Journal of Pure Science

# Al-Qadisiyah Journal of Pure Science

ISSN(Printed): 1997-2490

ISSN(Online): 2411-3514

DOI: /10.29350/jops.

<http://qu.edu.iq/journalsc/index.php/JOPS>

## Univalent Functions with Positive Coefficients Involving Touchard Polynomials

<p><b>Authors Names</b> a. Gangadharan Murugusundraramoorthy b Saurabh Porwal</p> <p><b>Article History</b> Received on: 19/07/2020 Revised on: 16/08/2020 Accepted on: 20/08/2020</p> <p><b>Keywords:</b> Univalent, Starlike functions, Convex functions, Hadamard product, Touchard polynomials.</p> <p><b>DOI:</b><a href="https://doi.org/10.29350/qjps2020.25.4.1176">https://doi.org/10.29350/qjps2020.25.4.1176</a></p>	<p><b>ABSTRACT</b></p> <p>The purpose of the present paper is to establish connections between various subclasses of analytic univalent functions by applying certain convolution operator involving Touchard polynomials. To be more precise, we investigate such connections with the classes of analytic univalent functions with positive coefficients in the open unit disk <math>\mathbb{U}</math>.</p> <p><b>MSC: 30C45.</b></p>
---	---

### 1. Introduction

The application of special function on Geometric Function Theory is a current and interesting topic of research. It is frequently applied in various branches Mathematics, Physics, Sciences, Engineering and Technology. The surprising use of generalized hypergeometric function by L. de Branges [6] in the solution of the famous Bieberbach conjecture. There is an extensive literature dealing with analytical and geometric properties of various types of special functions, especially for the generalized, Gaussian hypergeometric functions [5,10,11,16,18].

The Touchard polynomials, studied by Jacques Touchard [19], also called the exponential generating polynomials (see [3], [15], [17]) or Bell polynomials (see [1]) comprise a polynomial sequence of binomial type that for  $X$  is a random variable with a Poisson distribution with expected value  $\ell$ , then its  $n$ th moment is  $E(X_\kappa) = \mathcal{T}(\kappa, \ell)$ , leading to the form:

<sup>a</sup> Department of Mathematics, School of Advanced Sciences, VIT University, Vellore - 632014, India. E-Mail: [gmsmoorthy@yahoo.com](mailto:gmsmoorthy@yahoo.com)

<sup>b</sup> Department of Mathematics, Ram Sahai Government Degree College, Bairi-Shivrajpur-Kanpur-209205, (U.P.), India E-Mail: [saurabhjcb@rediffmail.com](mailto:saurabhjcb@rediffmail.com)

$$\mathcal{T}(\kappa, \ell) = e^\kappa \sum_{n=0}^{\infty} \frac{\kappa^n n^\ell}{n!} z^n \tag{1.1}$$

Touchard polynomials coefficients after the second force as following

Lately, introduce Touchard polynomials coefficients after the second force as following

$$\Phi_\kappa^\ell(z) = z + \sum_{n=2}^{\infty} \frac{(n-1)^\ell \kappa^{n-1}}{(n-1)!} e^{-\kappa} z^n, \quad z \in \mathbb{D}, \tag{1.2}$$

where  $\ell \geq 0; \kappa > 0$  and we note that, by ratio test the radius of convergence of above series is infinity. Let  $\mathcal{H}$  be the class of functions analytic in the unit disk  $\mathbb{U} = \{z \in \mathbb{C}: |z| < 1\}$ . Let  $\mathcal{A}$  be the class of functions  $f \in \mathcal{H}$  of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad z \in \mathbb{U}. \tag{1.3}$$

We also let  $\mathcal{S}$  be the subclass of  $\mathcal{A}$  consisting of functions which are normalized by  $f(0) = 0 = f'(0) - 1$  and also univalent in  $\mathbb{U}$ .

Denote by  $\mathcal{V}$  the subclass of  $\mathcal{A}$  consisting of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad a_n \geq 0. \tag{1.4}$$

For functions  $f \in \mathcal{A}$  given by (1.3) and  $g \in \mathcal{A}$  given by  $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ , we define the Hadamard product (or convolution) of  $f$  and  $g$  by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, \quad z \in \mathbb{U}. \tag{1.5}$$

Now, we define the linear operator

$$\mathcal{J}(l, m, z): \mathcal{A} \rightarrow \mathcal{A}$$

defined by the convolution or hadamard product

$$\mathcal{J}(l, m, z)f = \Phi_m^\ell(z) * f(z) = z + \sum_{n=2}^{\infty} \frac{(n-1)^l m^{n-1}}{(n-1)!} e^{-m} a_n z^n, \tag{1.6}$$

where  $\Phi_m^\ell(z)$  is the series given by (1.2).

The class  $\mathcal{M}(\alpha)$  of starlike functions of order  $1 < \alpha \leq \frac{4}{3}$

$$\mathcal{M}(\alpha) = \left\{ f \in \mathcal{A}: \Re \frac{zf'(z)}{f(z)} < \alpha, z \in \mathbb{U} \right\}$$

and the class  $\mathcal{N}(\alpha)$  of convex functions of order  $1 < \alpha \leq \frac{4}{3}$

$$\mathcal{N}(\alpha) := \left\{ f \in \mathcal{A} : \Re \left( 1 + \frac{zf''(z)}{f'(z)} \right) < \alpha, z \in \mathbb{U} \right\} = \{f \in \mathcal{A} : zf' \in \mathcal{M}(\alpha)\}$$

were introduced by Uralegaddi et al. [20] (see[7,9]). Also let  $\mathcal{M}^*(\alpha) \equiv \mathcal{M}(\alpha) \cap \mathcal{V}$  and  $\mathcal{N}^*(\alpha) \equiv \mathcal{N}(\alpha) \cap \mathcal{V}$ .

In this paper we introduce two new subclasses of  $\mathcal{S}$  namely  $\mathcal{M}(\lambda, \alpha)$  and  $\mathcal{N}(\lambda, \alpha)$  to discuss some inclusion properties.

For some  $\alpha (1 < \alpha \leq \frac{4}{3})$  and  $\lambda(0 \leq \lambda < 1)$ , we let  $\mathcal{M}(\lambda, \alpha)$  and  $\mathcal{N}(\lambda, \alpha)$  be two new subclass of  $\mathcal{S}$  consisting of functions of the form (1.3) satisfying the analytic criteria

$$\mathcal{M}(\lambda, \alpha) := \left\{ f \in \mathcal{S} : \Re \left( \frac{zf'(z)}{(1-\lambda)f(z) + \lambda zf'(z)} \right) < \alpha, z \in \mathbb{U} \right\}. \tag{1.7}$$

$$\mathcal{N}(\lambda, \alpha) := \left\{ f \in \mathcal{S} : \Re \left( \frac{f'(z) + zf''(z)}{f'(z) + \lambda zf''(z)} \right) < \alpha, z \in \mathbb{U} \right\}. \tag{1.8}$$

We also let  $\mathcal{M}^*(\lambda, \alpha) \equiv \mathcal{M}(\lambda, \alpha) \cap \mathcal{V}$  and  $\mathcal{N}^*(\lambda, \alpha) \equiv \mathcal{N}(\lambda, \alpha) \cap \mathcal{V}$ .

Note that  $\mathcal{M}(0, \alpha) = \mathcal{M}(\alpha)$ ,  $\mathcal{N}(0, \alpha) = \mathcal{N}(\alpha)$ ;  $\mathcal{M}^*(\alpha)$  and  $\mathcal{N}^*(\alpha)$  the subclasses of studied by Uralegaddi et al. [20].

Motivated by results on connections between various subclasses of analytic univalent functions by using hypergeometric functions (see [5,10,11,16,18]), we obtain necessary and sufficient condition for function  $\Phi(l, m, z)$  to be in the classes  $\mathcal{M}(\lambda, \alpha)$ ,  $\mathcal{N}(\lambda, \alpha)$  and connections between  $\mathcal{R}^T(A, B)$  by applying convolution operator.

## 2. Preliminary results

To prove our main results we shall require the following definitions and lemmas.

**Definition 2.1.** The  $l^{th}$  moment of the Poisson distribution is defined as

$$\mu'_l = \sum_{n=0}^{\infty} \frac{n^l m^n}{n!} e^{-m}.$$

**Lemma 2.1.** For some  $\alpha (1 < \alpha \leq \frac{4}{3})$  and  $\lambda(0 \leq \lambda < 1)$ , and if  $f \in \mathcal{V}$  then  $f \in \mathcal{M}^*(\lambda, \alpha)$  if and only if

$$\sum_{n=2}^{\infty} [n - (1 + n\lambda - \lambda)\alpha] |a_n| \leq \alpha - 1. \tag{2.9}$$

**Lemma 2.2.** For some  $\alpha$  ( $1 < \alpha \leq \frac{4}{3}$ ) and  $\lambda$  ( $0 \leq \lambda < 1$ ), and if  $f \in \mathcal{V}$  then  $f \in \mathcal{N}^*(\lambda, \alpha)$  if and only if

$$\sum_{n=2}^{\infty} n[n - (1 + n\lambda - \lambda)\alpha]a_n \leq \alpha - 1. \quad (2.10)$$

### 3. Main Results

For convenience throughout in the sequel, we use the following notations:

$$\sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} = e^m - 1 \quad (3.11)$$

$$\sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-2)!} = me^m \quad (3.12)$$

$$\sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-3)!} = m^2 e^m \quad (3.13)$$

$$\sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-4)!} = m^3 e^m \quad (3.14)$$

**Theorem 3.1.** If  $m > 0$  ( $m \neq 0, -1, -2, \dots$ ),  $l \in N_0$  then  $\Phi(l, m, z) \in \mathcal{M}^*(\lambda, \alpha)$  if and only if

$$\begin{cases} (1 - \alpha\lambda)\mu'_{l+1} + (1 - \alpha)\mu'_l, & l \geq 1 \\ (1 - \alpha\lambda)m + (1 - \alpha)(1 - e^{-m}), & l = 0 \end{cases} \leq \alpha - 1. \quad (3.15)$$

*Proof.* To prove that  $\Phi(l, m, z) \in \mathcal{M}^*(\lambda, \alpha)$ , then by virtue of Lemma 2.1, it suffices to show that

$$\sum_{n=2}^{\infty} [n - (1 + n\lambda - \lambda)\alpha] \frac{(n-1)^l m^{n-1}}{(n-1)!} e^{-m} \leq \alpha - 1. \quad (3.16)$$

Now

$$\begin{aligned} & e^{-m} \sum_{n=2}^{\infty} [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(n-1)^l m^{n-1}}{(n-1)!} \\ &= e^{-m} \sum_{n=2}^{\infty} [(n-1)(1 - \lambda\alpha) + 1 - \alpha] \frac{(n-1)^l m^{n-1}}{(n-1)!} \end{aligned}$$

$$\begin{aligned}
 &= e^{-m} \sum_{n=1}^{\infty} [n(1 - \lambda\alpha) + 1 - \alpha] \frac{n^l m^n}{n!} \\
 &= e^{-m} \sum_{n=1}^{\infty} [(1 - \lambda\alpha) \frac{n^{l+1} m^n}{n!} + (1 - \alpha) \frac{n^l m^n}{n!}] \\
 &= \begin{cases} (1 - \alpha\lambda)\mu'_{l+1} + (1 - \alpha)\mu'_l, & l \geq 1 \\ (1 - \alpha\lambda)m + (1 - \alpha)(1 - e^{-m}), & l = 0 \end{cases}
 \end{aligned}$$

But this expression is bounded above by  $\alpha - 1$  if and only if (3.15) holds. Thus the proof is complete.  $\square$

**Theorem 3.2.** If  $m > 0 (m \neq 0, -1, -2, \dots)$ ,  $l \in N_0$  then  $\Phi(l, m, z) \in \mathcal{N}^*(\lambda, \alpha)$  if and only if

$$\begin{aligned}
 &\begin{cases} (1 - \alpha\lambda)\mu'_{l+2} + (2 - \alpha\lambda - \alpha)\mu'_{l+1} + (1 - \alpha)\mu'_l, & l \geq 1 \\ (1 - \alpha\lambda)(m^2 + m) + (2 - \alpha\lambda - \alpha)m + (1 - \alpha)(1 - e^{-m}), & l = 0 \end{cases} \\
 &\leq \alpha - 1.
 \end{aligned} \tag{3.17}$$

*Proof.* To prove that  $\Phi(l, m, z) \in \mathcal{N}^*(\lambda, \alpha)$ , then by virtue of Lemma 2.2, it suffices to show that

$$\sum_{n=2}^{\infty} n [n - (1 + n\lambda - \lambda)\alpha] \frac{(n - 1)^l m^{n-1}}{(n - 1)!} e^{-m} \leq \alpha - 1. \tag{3.18}$$

Now

$$\begin{aligned}
 &e^{-m} \sum_{n=2}^{\infty} n [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(n - 1)^l m^{n-1}}{(n - 1)!} \\
 &= e^{-m} \sum_{n=2}^{\infty} [(1 - \lambda\alpha)(n - 1)^2 + (2 - \alpha\lambda - \alpha)(n - 1) + 1 - \alpha] \frac{(n - 1)^l m^{n-1}}{(n - 1)!} \\
 &= e^{-m} \sum_{n=2}^{\infty} [(1 - \lambda\alpha) \frac{(n - 1)^{l+2} m^{n-1}}{(n - 1)!} + (2 - \alpha\lambda - \alpha) \frac{(n - 1)^{l+1} m^{n-1}}{(n - 1)!} + (1 - \alpha) \frac{(n - 1)^l m^{n-1}}{(n - 1)!}] \\
 &= \begin{cases} (1 - \alpha\lambda)\mu'_{l+2} + (2 - \alpha\lambda - \alpha)\mu'_{l+1} + (1 - \alpha)\mu'_l, & l \geq 1 \\ (1 - \alpha\lambda)(m^2 + m) + (2 - \alpha\lambda - \alpha)m + (1 - \alpha)(1 - e^{-m}), & l = 0 \end{cases}
 \end{aligned}$$

But this expression is bounded above by  $\alpha - 1$  if and only if (3.17) holds. Thus the proof is complete.

### 4. Inclusion Properties

A function  $f \in \mathcal{A}$  is said to be in the class  $\mathcal{R}^\tau(A, B)$ ,  $(\tau \in \mathbb{C} \setminus \{0\}, -1 \leq B < A \leq 1)$ , if it satisfies the inequality

$$\left| \frac{f'(z) - 1}{(A - B)\tau - B[f'(z) - 1]} \right| < 1 \quad (z \in \mathbb{U}).$$

The class  $\mathcal{R}^\tau(A, B)$  was introduced earlier by Dixit and Pal [8].

It is of interest to note that if

$$\tau = 1, A = \beta \text{ and } B = -\beta \quad (0 < \beta \leq 1),$$

we obtain the class of functions  $f \in \mathcal{A}$  satisfying the inequality

$$\left| \frac{f'(z) - 1}{f'(z) + 1} \right| < \beta \quad (z \in \mathbb{U})$$

which was studied by (among others) Padmanabhan [13] and Caplinger and Causey [4].

**Lemma 4.3.** [8] If  $f \in \mathcal{R}^\tau(A, B)$  is of form (1.3), then

$$|a_n| \leq (A - B) \frac{|\tau|}{n}, \quad n \in \mathbb{N} \setminus \{1\}. \tag{4.1}$$

The result is sharp.

Making use of the Lemma 4.3 we will study the action of the Poissons distribution series on the class  $\mathcal{M}(\lambda, \alpha)$ .

**Theorem 4.3.** Let  $\alpha > 0 (m \neq 0, -1, -2, \dots), l \in \mathbb{N}_0$ . If  $f \in \mathcal{R}^\tau(A, B)$ , then  $J(l, m, z)f \in \mathcal{N}^*(\lambda, \alpha)$  if and only if

$$(A - B)|\tau| \begin{cases} (1 - \alpha\lambda)\mu'_{l+1} + (1 - \alpha)\mu'_l, & l \geq 1 \\ (1 - \alpha\lambda)m + (1 - \alpha)(1 - e^{-m}), & l = 0 \end{cases} \leq \alpha - 1. \tag{4.2}$$

*Proof.* Let  $f$  be of the form (1.3) belong to the class  $\mathcal{R}^\tau(A, B)$ . By virtue of Lemma 2.2, it suffices to show that

$$\sum_{n=2}^{\infty} n [n - (1 + n\lambda - \lambda)\alpha] \frac{(n - 1)^l m^{n-1}}{(n - 1)!} |a_n| \leq \alpha - 1.$$

Let Now

$$\begin{aligned} & e^{-m} \sum_{n=2}^{\infty} [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(n - 1)^l m^{n-1}}{(n - 1)!} |a_n| \\ & \leq (A - B)|\tau| e^{-m} \sum_{n=2}^{\infty} [(n - 1)(1 - \lambda\alpha) + 1 - \alpha] \frac{(n - 1)^l m^{n-1}}{(n - 1)!} \end{aligned}$$

$$\begin{aligned}
 &= (A - B)|\tau|e^{-m} \sum_{n=1}^{\infty} [n(1 - \lambda\alpha) + 1 - \alpha] \frac{n^l m^n}{n!} \\
 &= (A - B)|\tau|e^{-m} \sum_{n=1}^{\infty} [(1 - \lambda\alpha) \frac{n^{l+1} m^n}{n!} + (1 - \alpha) \frac{n^l m^n}{n!}] \\
 &= (A - B)|\tau| \begin{cases} (1 - \alpha\lambda)\mu'_{l+1} + (1 - \alpha)\mu'_l, & l \geq 1 \\ (1 - \alpha\lambda)m + (1 - \alpha)(1 - e^{-m}), & l = 0 \end{cases} \\
 &\leq \alpha - 1.
 \end{aligned}$$

**Theorem 4.4.** Let  $m > 0 (m \neq 0, -1, -2, \dots)$ ,  $l \in N_0$  then  $\mathcal{L}(l, m, z) = \int_0^z \frac{J(l, m, t)}{t} dt$  is in  $\mathcal{N}^*(\lambda, \alpha)$  if and only if inequality (3.15) is satisfied.

*Proof.* Since

$$\mathcal{L}(l, m, z) = z + \sum_{n=2}^{\infty} \frac{(n - 1)^l m^{n-1}}{(n - 1)!} e^{-m} \frac{z^n}{n}.$$

By virtue of Lemma 3.1, it suffices to show that

$$\sum_{n=2}^{\infty} n [n - (1 + n\lambda - \lambda)\alpha] \frac{(n - 1)^l m^{n-1}}{n(n - 1)!} e^{-m} \leq \alpha - 1.$$

Now,

$$\sum_{n=2}^{\infty} n [n - (1 + n\lambda - \lambda)\alpha] \frac{(n - 1)^l m^{n-1}}{n(n - 1)!} e^{-m} = \sum_{n=2}^{\infty} [n - (1 + n\lambda - \lambda)\alpha] \frac{(n - 1)^l m^{n-1}}{(n - 1)!} e^{-m}.$$

Proceeding as in Theorem 3.1 we obtain the required result.  $\square$

#### 4. Open Problems

It is interesting to find the result of Theorems 3.1-4.4, when  $l$  is a real number.

#### References

---

[1] K. Al-Shaqsi, On inclusion results of certain subclasses of analytic functions associated with generating function, AIP Conference Proceedings 1830, 070030 (2017); doi: 10.1063/1.4980979.

[2] E. Bell, Exponential polynomials, Annal Math., (1934), 258-277.

[3] K.N. Boyadzhiev, Exponential polynomials, Stirling numbers, and evaluation of some Gamma integrals, Abstract Appl. Anal., Vol. (2009), Art. ID 168672, 1-18.

[4] T. R. Caplinger and W. M. Causey, A class of univalent functions, Proc. Amer. Math. Soc., 39(1973), 357-361.

[5] N. E. Cho, S. Y. Woo and S. Owa, Uniform convexity properties for hypergeometric functions, Fract. Cal. Appl. Anal., 5(3) (2002), 303-313.

[6] L. de Branges, A proof of the Bieberbach conjecture, Acta Math., 154(1985), 137-152.

- [7] K.K. Dixit and V. Chandra, On subclass of univalent functions with positive coefficients, *Aligarh Bull. Math.*, 27(2) (2008), 87-93.
- [8] K. K. Dixit and S. K. Pal, On a class of univalent functions related to complex order, *Indian J. Pure Appl. Math.*, 26(9)(1995), 889-896.
- [9] , K. K. Dixit and A.L. Pathak, A new class of analytic functions with positive coefficients, *Indian J. Pure Appl. Math.*, 34(2) (2003), 209-218.
- [10] E. Merkes and B. T. Scott, Starlike hypergeometric functions, *Proc. Amer. Math. Soc.*, 12 (1961), 885-888.
- [11] A. O. Mostafa, A study on starlike and convex properties for hypergeometric functions, *J. Inequal. Pure Appl. Math.*, 10(3) (2009), Art., 87, 1-16.
- [12] G. Murugusundaramoorthy, K. Vijaya and S. Porwal, Some inclusion results of certain subclass of analytic functions associated with Poisson distribution series, *Hacettepe J. Math. Stat.*, 45(4)(2016), 1101-1107.
- [13] K. S. Padmanabhan, On a certain class of functions whose derivatives have a positive real part in the unit disc, *Ann. Polon. Math.*, 23(1970), 73-81.
- [14] S. Porwal, An application of a Poisson distribution series on certain analytic functions, *J. Complex Anal.*, Vol.(2014), Art. ID 984135, 1-3.
- [15] S. Roman, *The Umbral calculus*, Dover, 1984.
- [16] H. Silverman, Starlike and convexity properties for hypergeometric functions, *J. Math. Anal. Appl.*, 172 (1993), 574-581.
- [17] Y. Simsek, Special numbers on analytic functions, *Appl. Math.*, (2014), 1091-1098.
- [18] H. M. Srivastava, G. Murugusundaramoorthy and S. Sivasubramanian, Hypergeometric functions in the parabolic starlike and uniformly convex domains, *Integral Transform Spec. Funct.*, 18(2007), 511-520.
- [19] J. Touchard, Sur les cycles des substitutions, *Acta Math.*, (1939), 243-297.
- [20] B.A. Uralegaddi, M.D. Ganigi and S.M. Sarangi, Univalent functions with positive coefficients, *Tamkang J. Math.*, 25 (1994), 225-230.